ME ==mmms e o FURBEIRET | TCCGL3T-18A

(WA RER ] BEARSE+/\BBEZ

$BE : FUE ZEFNSEMER ()
T EemRft

B B
(HZE]

1IBE 2 FFFS = 40,000*12/3 = 160,000
2ETEEEEANTREE = (160,000-120,000 ) *1/2 = 20,000
3B =X HIRIEMTAR = 20,000%3/12 = 5,000

[HZ]
TS FEANTREE = (1,200 & + 1,000 E)*20% = 440 &
B A P 1S FE AR BE = 1,200%20% = 240 &
NNEtEASNER 1S RIS NN 45 S FE 4N TR 58 = 440 B5-240 B =200 E>150 5......18 150 B

2Ny

EEEANTRER = 440 B-150 B =290 &

(5]
48 R 1S FEANTRZE = (1,000 B + 400 E5-200 E)*20% = 240 &
BIAFTSFEANTEE = 1,000 E*20% = 200 &
INEtEBISNT S ET IS INAE B FEANTIEE = 240 -200 E =40 E<50 5. 40 BB

Ny

HEEMNE=2408-40E =200 8

Xl
4

O EEB
AR 1 2 3 4 5 6 7 8 10
X C D D C D D D B B D
zhi 11 12 13 14 15 16 17 18 19 20
EE D D D D C D A D C A

B 1/1



